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答案解析
1. 2019朝阳期末C
38. B 主旨大意题，由文章第二段中“But when it comes to long-distance running, humans do astonishingly well.”可知本段大意，转折词but为关键词，即当谈到长距离跑的时候，人类做的惊人的好，故选B。
39. A 推理判断题，通过题干定位到第三段，由“Then there are Achilles tendons at the backs of our legs, forming the mechanical links between the muscles to the bones. They act like strong strings and help to push us forward when we run.”可知 “tendons”肌腱在跑步中起了重要作用，故选A。
40. D 主旨大意题，定位在第四段开头，由“But what advantage is gained from being good long-distance runners? One theory is that this ability may have permitted early humans to obtain food more effectively.”可知早期人类进化长跑是为了更有效地获取食物，故选D。
41. D 推理判断题，划线句中“have second thoughts”和“why we are built the way we are”与选项D中“reconsider”和“our body structure”分别照应，故选D。
2. 2019东城期末C
本文为议论文，论述了为什么黑色星期五的购物者仍挤满商店。
38. A 主旨大意题，根据第二段最后一句可知，实体店收入下降是实际情况，实体店不像以前那么受欢迎了，故选A。
39. D 细节理解题，根据第三段中的“As commercial as stores may be, they are still places where actual human beings interact.”（尽管商店是商业性的，但它们仍然是世纪人类互动的地方）可知，作者认为人们喜欢去购物度假主要是因为他们可以与人进行真正的交流，故选D。
40. D 推理判断题，根据作者对于喜欢独家购物的原因的解读以及最后一段中的“Perhaps the people crowding into stores aren’t the crazy ones after all.”（也许人们涌入商店并不是疯狂的行为）可推断出，作者对于黑色星期五的现象是持理解态度的，故选D。
41. A 主旨大意题，根据标题以及通篇文章大意可知，本文主要论述了电子商务时代为什么黑色星期五的购物者仍然挤满商店，解读了购物者心理，故选A。
3. 2019西城期末
38. B 猜测词义题；定位在文章第三段。“Although medical science’s favourite creatures relish temperatures of a little over 30℃, laboratories routinely keep them at five or ten degrees below that.”可知,虽然医学中最喜欢的生物偏爱待在稍高于30摄氏度的环境里，但他们却常被控制在比这低5到10摄氏度的实验室中。结合句意前后形成对比，因此这种生物在30℃环境下最合适。A.resist 抵抗；C.avoid 避免；D.maintain 维持，均不符题意；故正确答案是B。
39. B 细节理解题，首先通过题干信息定位到第四段，再通过第四段中 “That changes their physiology (生理). And that in turn changes the way they metabolise (新陈代谢) drugs, with possibly confusing results”可知这样动物的生理机能就会有所改变，因此会影响到药物在动物体内的代谢，结果也是混乱的。由此可知老鼠如果吃的比正常情况下多，会导致不同的生理反应，从而影响药效；故正确答案是B。
40. C 细节理解题，由倒数第二段的最后一句话“But leave a least six grams of paper in the chilly cage, and many mice will prefer instead to brave the cold and build a nest here.”，如果在温度较低的笼子里放至少六克纸条，那么很多老鼠宁愿忍受寒冷，在那里筑窝，可知老鼠在特定环境下会抵抗寒冷；故正确答案是C。
41. D 推理判断题，从文章最后“That seems a small price to pay for better drug trials”，用六克纸条就能让药物试验有更好的效果，这似乎是个很小的代价，可知研究员应该准备足够的筑巢材料，使药物试验效果最佳；故正确答案是D。
4. 2019海淀期末C
58. C 细节理解题，根据第二段“Social scientists have used some creative approaches to measure the size of people’s social networks; these have returned estimates ranging from about 250 to about 5,500 people.”和“However vast our networks may be, our inner circle tends to be much smaller.”可知，文章说的是尽管我们有着广泛的社交网络，但是我们的核心社交圈变得更小了，故选C，尽管人们有着巨大的社交网络，但是人们的核心社交圈正在不断减小。
59. D 细节理解题，根据题干关键词定位到第三段“Beyond that, building deeper friendships may be largely a matter of putting in time.”可知，建立深厚友谊需要大量的时间 投入，故选D，为深厚的友谊花费时间。
60. A 主旨大意题，根据标题可知文章讲的是科学研究，怎么交朋友。结合文章结构，先说明友谊对人们的巨大重要性，但根据科学研究，人们的核心社交圈越来越小，后作者提出了具体改善社交生活的方法，故选A，如何发展友谊的建议。
61. A 考察文章的写作方式，即说明过程，应采取主线阅读法，从第二段开头部分和第三段开头部分可以看出文章在说明作者观点时，大量使用了“research““suggests”“study”等科学研究相关词汇，故选A，“使用研究结果”。
5. 2019丰台期末C
38. B 推理判断题，根据第一段中“Assuming wood is just as strong today, those gains would mean more timber(木材) for building, burning, and storing carbon captured from the atmosphere. But is wood really as dense as it used to be?”可知，第一段是为了介绍这一主题，故选B。
39. C 推理判断题，根据第三段中“the study suggests that the higher temperatures—combined with pollution from auto exhaust and farms—are making wood weaker, resulting in trees that break more easily and wood that is less durable.”可知对森林的研究表明，气候变暖会改变木材的质量，故选C。
40. A 推理判断题，根据最后一段可知，Houghton所说的意味着可能造成巨大损失，故选A。
41. D 主旨大意题，采取主干阅读法，从第一段开头和第三段开头可知本文讲述的是“树越来越大，但树也越来越脆弱”，故选D。
6. 2019石景山期末C
38. A 推理判断题，根据第一段中“One of their earliest films was a 30-second piece which showed a section of a railway platform. As the train approached, panic started in the theatre: people jumped and ran away. In their confusion, the audiences feared that a real train was about to crush them. That was the moment when cinema was born.”可知，作者引用《火车》这部电影是为了展示早期电影的效果，故选A。
39. A 推理判断题，根据第二段“Early cinema audiences often experienced the same confusion. In time, the idea of films became familiar, the magic was accepted — but it never stopped being magic. Film has never lost its unique power to embrace its audience and transport them to a different world.”可知，当电影刚开始的时候，人们认为它的未来是不确定的，故选A。
40. D 主旨大意题，根据第三段中“One effect of this realism was to educate the world about itself. Cinema makes the world smaller. Long before people travelled to America or anywhere else, they knew what other places looked like and how other people worked and lived. ”可知，本段叙述的是电影如何教会我们了解其他文化。
41. D 主旨大意题，根据最后一段中“Almost unbelievably, it is only 100 years since that train arrived and the audience screamed and fled, perhaps, suddenly aware that the world could never be the same again — that, maybe, it could be better, brighter, more astonishing and more real than reality.”可知，几乎令人难以置信的是，那列火车到现在才一百年，观众们尖叫着逃离，也许他们突然意识到这个世界再也不会和以前一样了，这个世界也许会变得更好，跟更光明，更惊人，更真实。由此可知，本文讲述的是大屏幕的力量，故选D。





